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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 camy 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer
Sheet. :

(20 marks)

1. In 9 765 382, which digit is in the hundred thousands place?

() 5

(20 6

@ 3

@ 7
2, What is the value of 800 x 50?

(1) 4000

(2) 40000

(3) 400000

(4 4000000
3. Which of the following has the same value as —2% ?

(1) 0.2

(2 015

(3) 025

4 03
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4. Which of the following is correct?

5. Which of the following angles is smaller than a right angle?

(1)

7 @/\
() /o\
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6. Arrangs the following numbers from the largest to the smallest.

(1)
@)
3
@

8.01
8.1
8.1

8,

8.1,

8.01
8.1
8
8.01

8.01

8.1
8
8.01

¥ What is the place value of digit 5 in 24,1597

(1)
(2)
(3)
(4)

tens

tenths
hundreds

hundredths

8. Express 0.08 as a fraction.

6
{1) 10
3]
@ 1
6
@) 1000
60
(4 100
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9. There are five triangles shown on the square grid below.

Which of the following triangles has the same area as Triangle E?

(1)  TrangleF
(2) Trangle G
3) Triangle H
(4)  Trangle J

10.  Amovie slarted at 19 30. It lasted 125 min. At what lime did the movie end?

(1) 1725
-(2) 1805
(3) 2135
(4) 2155
MAJP5 /[ SA1/2017 Page 4 of 7 {Go on o the next page)
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11. The table below shows the mass of 3 objects.

Objects Mass
w 12kg
X 72 kg
Y 42 kg
What is the ratio of the mass of Object W to the mass of Object X to the mass of

Object Y in its simplest form?

y 2:92:7
2 2:7:12
(3) 4:24:14
4 6:36:21

12. Which of the following Is closest to 12

g

(1) 3

8

(2) 9

4

(3 5

6

4) 7
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13.  Thelengths of the sides of a triangle are in the ratio 3: 5 : 6. The length of the
longest side is 30 cm. What s the perimeter of the triangle?

(1
()
@)
(4)

5cm

10cm
70 cm
140 cm

14. In the square grid below, James was standing on Peint P facing south-sast.

11T

Then James turned 135° clockwise. Which point is he facing now?

(1) Q
2 R
@ S
4 T
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15.  Jack bought a plant that was 12 cm tall. At ihe end of each week, he measured the
height of the plant and recorded its Increase for the week. The bar graph below
shows his records.

Increase in
the-height of
the plant for
the week
{cm)

Week 2 Week 3 Week 4

What was the height of the plant when it was measured at the end of Week 372

(1) 7cm
2 15cm
(3) 19cm
4) 27cm
MAJ P51 SA1/2017 Page 7 of 7 {Go on lo Booklet B)
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Questions 16 to 20 camry 1 mark each. Wrile your answers in the spaces provided.
For questions which require units, give your answers In the units stated. {5 marks)

16.  Wirite five million, forty-two thousand and ten in figures.

Answer :
17.  Find the value of 2 + 2.

Answer :
18. Find thsvalueof% % % .

Answer :

- 19.  Write down the first two common multiples of 3 and 5.

Answer : and

SCORE
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20. Mary has 6 times as much money as john. What Is the rafio of the amount of
money john has to the amount of money Mary has?

Answer :

Questions 21 to 30 canry 2 marks each. Show your working clearly and wrile your

answers in the spaces provided. For questions which require units, give your answers In
the units stated. (20 marks)

21. Find the total mass of the watermelon and the bunch of grapes Express your
answer in kilograms and grams,

Answer : kg g
SCORE
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(a) Round 32 504 to the nearest 10.

(b)  The population of a town Is 9000 when rounded fo the nearest 100.
What is the lowest possible number of people in that town?

Answer ; (a)
(®)
23.  What are the missing numbers In the boxes?
(a) 7000+ =70
(b) 48600+ 300=
Answer : (a)
(b)
24.  What are the missing numbers in the boxes?
(@) 122-433=[7 ]
(b) 3272+8=
Answer : (a)
(b)
SCORE
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25.  Find the value of
@) 10-4x2+1

0o not wiite
i this space

b} (54+6)+3x2

Answer : (a)

(b)

26. John had $260. .Haspent% of it on a pair of shoes. How much did John spend
on the shoes?

Answer : $

-27.  The participants in a quiz were Indlans, Chinese and Malays in the ratio 2: 7 : 4.

There were 84 Malay participants. How many more Chinese participants than
indian participants were there?

SCORE
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28.  Seven unit cubes are used to build Solid M as shown below.

Draw on the square grid below the front view and the side view of Solid M.

Froni view

Slde view

MA/P5/8A172017
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20. (a) Inthe figure below, name two lines that aro paraliel fo each ofher.

Ci
T —
]
G
\\
\
N
| \Z
T E
Answer : (a) and

(b)  Draw the other half of the symmetrical figure along the line of symmetry XY.

X
»”
”
f”
r
M "
< ”,'
L
"
”
.")r
-
s
”
SCORE
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30. The figure below shows Square A in a grid box.

(a) Draw a square that is twice as big as Square Ain the grid below.

. 5
- B
'y s
L] - L] .

- L] - L]
- - - .
L ] - L]
- L] - -

(b) Draw a rectangle that js 3 times as big as Square Ain the grid below.

+ End of Paper

Setby : Mdm Joyos Cheng, Mr Stahley Soh and Mr Teng Beng Chye
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Questions 1 to § camry 2 marks each. Writs your answers In the spaces provided,
For questions which require units, give your answers In the units stated. {10 marks)

; Alaxis cut a 6-m coll of wire into 7 equal pieces. How long was each piece of
wire in metre? Express your answer correct to 2 decimal places.

Answer : m

2 Find the area of the shaded triangle ACD shown below.

Answer : _em?
SCORE
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3. Find the volume of a cube of edge 8 cm. Do not wiits

In this spacs

6 cm

4. Amctangdartankmeasurlngﬁcmbyumbywcmis%ﬁ!ldethwater.
How much water is in the tank?

18 cm
Answer : om®
SCORE
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5. Aishah bought 40 packsts of drinks at $0.85 each. How much money did she
give the cashler if she recelved $1 change? -

Answer: $

For questions 6 to 17, show your working clearly and write your answers in the spaces
provided. The number of marks available is shown In brackets | Jat the end of each
question or part-question. (45 marks)

6. A large bowl cost $4. A small bowi cost $2.30 less than a large bow.
Omar bought the same number of bowis as Raj and paid $16.10 more than Raj.
Omar bought only large bowls and Raj bought only small-bowis.
(a) What s the cost of a small bowi?

(b)  How many bowis did Ra] buy?

Answer : (a) 1
{b) iZ
SCORE
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T The table below shows the number of boys and girls who wear or do not wear
spectacies In a Primary 5 class. Some of the data are missing.

Number of pupils who | Number of pupils who

wear spectacles | do not wear spectacles
Boys 6 12
Girls ? ?
Total ? 20

(@  What fraction of the boys wear spectacies?

(b)  There are 42 puplis In the class. How many girls wear spectacies in the

class?
Answer : (a) 11
(b) 2
“* SCORE
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8. Bala gave a sum of money to his wife and 4 children In the rafio 5 : 9. His wife

received $80. Each of his chiidren received an equal amount of money. -
How much did each of his children recelve?

Answer : [3]

9. There are some marbles in a container. %ofmemrbbsarabm.-}ofﬂle

remalining marbles are yellow and the rest are red.
(a) What fraction of the marbles In the container are yellow?

(b)  There are 504 red marbles. How many yellow marbles are there in the
contalner?

Answer : (a) [1}
(b) [2]
SCORE
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10.  The figure Is made up of two squares. The area of the bigger square is 81 cm?.

D
8cm
Find the area of the shaded part.
Answer : (4
SCORE
MA7 PS5 I SA1/2017 Page 6 of 13 (Go on to the next page)

www.testpapersfree.com




11.  The graph below shows the number of visitors at a museum over 6. months,

3000

2500

2000 —}——] A T
N N —— ~-77/ N g
Number 1500

of visitors b AR —

10'00— ------- /

500

0

Ju Aug Sep Oct Nov Dec

(@)  Find the difference In the number of visitors between August and Oclober.

(b) In November, % of the visitors were adulls. How many children isited
the museum in November?
Answer : (a) Iy
(b) 2
SGORE
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12 Shannon bought 2 ¢of apple juice. She drank > of the julce and her brother

2 .
drank 3 tof the remaining juice How much apple juice, in £, had Shannon left?

Express your answer in fraction.
Answer : — Bl
SCORE
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13. The figure below is formed by 5 Identical rectangles. The total area of the figure

is 375 cm2.

(@) Whatis the length of each rectangle?
(b)  Whatis the perimster of the figure?

Answer : (a) 3]
- (b) I2]
SCORE
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14.  Inaquiz, every contestant has to answer 85 questions, :
Formrycmmctmmgm,memﬂesiammmapdm
For every wrong answer given, 1 point Is deducted.

Bill answered all the questions and scored a total of 183 points.
How many questions did Bili answer correctly?

Answer : _[4)
SCORE
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15.  Palrick sells biscults. For every 3 tins of biscuits he selis, he eams $5.
For every 15 tins of biscuits he selis, he eams an additional $4.
How much money will Patrick eam if he sells 398 tins of biscults?

Do not-wite
In tis spaca

Answer : 4
SCORE
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16.  Rachel, Sally and Tammy shared $372. Auernaawwpemg of her share,

1
Sally spent > of her share and Tammy spent %— of her shars, the giris found
that they had the same amount of money Ieft.
(@)  Whal was Sally's share of the money at first?
(b)  How much money did the three girls spend altogether?

_ Answer : (a) [3]
(b) [2]
SCORE
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17.  Slew Chin used square tiles to form the following patterns.

e

Lyl

Pattern 1 Patten 2 Pattemn 3 Pattemn 4

The table below shows the number of square tiles in each pattem.

Pattern Number of square tiles
1 5
2 12
3 21
4 31
5 (a)
(a)  Complete the table above for Pattern 5. [1]

(b)  How many square tiles are there in Pattern 257
(c) - Which pattem number will have exactly 320 square tiles?

Answer : (b) 2]
{©) [2]
End of Paper
SCORE
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Q23 (a) 100
(b) 162

Q24 (a) 7.87
(b) 4.09

Q25 (a) 3
(b) 40

Q26 52

Q27 105

Q28

. Q29 (a) CF,DE
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Paper 2
Q1 Each piece—6+7

= 0.857
= 0.86m

Q2  Area of whole figure—1/2x(7+9)x12
=1/2x16x12
= 96cm?
Area of unshaded part—1/2x12x9
= 54cm?

Area of shaded part—96-54
=42cm?

Q3 Volume of cube—6x6x6
=216cm?

Q4 Height of water—10+2
= 5cm
How much water—14x18x5
= 1260cm?®
Q5 40 Packets cost—40x0.85
=$34
How much Aishah gave—34+1

=335

' Q6 (a) Cost of small bowl—$4-2.30
=$1.70

(b) Extra—16.1 0-:—__2_7‘.‘:50 =7 bowls
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Q7 (a) 6/12+6
= 6/18

(b) Girls who do not wear spectacles—20-12 = 8
Pupils who wear spectacles —42-20 = 22
Girls who wear spectacles—22-6 = 16 girls

Q8 5u=%$80
Su=$144
4 Children=$144
1 Children=$144+4 = $36

Q9 (a) 116
(b) 3u=504

1u=504+3
=168 yellow marbles

Q10 Length of bigger square—9x9 = 81
Unshaded area in smaller square—1/2x4x6 = 12
Area of smaller square—6x6 = 36
Shaded part in small square—36-12 = 24
Shaded part in big square—1/2x9x6 = 27
Total shaded area—27+24 = 51cm?

Q11 (a) Difference—2250-1250 = 1000 visitors

(b) 2/5%x1750 = 700 children

.Q12 Drank—3/8x2 = 6/8L
Left —2L-6/8L-2/3L = 7/12L

Q13 1 Square—375+15=25
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1 Breath—Square root of 25 =5
(a) Length—5x3 = 15¢cm
(b) Perimeter—8x2x5 = 80cm

Q14 Total marks—»85x3 = 255
1 group—3+1=4
Marks to return=>255-183 = 72
Wrong—72+4 =18
Correct—85-18 = 67 marks

Q15 How much $ he earn (1 group) (15+3)x5+4 = 29
? groups—396+15 = 26R6
How much he earns—(26x29)+(5%2) = $764

Q16 (a) Rachel left -1 - 2/5 = 3/5 = 6/10
Sally left -1-1/2=1/2=6/12
Tammy left - 1-1/3=2/3=6/9
31 units = 372
Tunit=372+31=12
Sally —12x12 = $144

(b) 13 units —12x13= $156
Q17 (a) 45

(b) Pattern1 —5x1=5
Pattern 2 — 6x2 =12
Pattern 3 — 7x3 = 21
Pattern 4 — 8x4 = 32
Pattern 25 — 29x25 = 725

(c) 12x16 = 192

15x19 = 285
16x20 =:320
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